BILENAREATEEERALHELEARBRE # | H #l7

= - E 204  RAT RPN EMRM TER AT BE RTERE

ARERETLS AN IR o FTEE  (EOEZHOR)

Py

For the transfer function, 4,(s) =

If a voltage source V(t)= 100sin10t Volt is applied onto a RL series circuit with
R = 100Q), L = 20H and the initial current=0, please find the current in the
circuit i(t)=? (10%)

For 2 p-n junction with Ny=10'"/em® and N¢=10'%cm’, find, at T=300k, the
built-in voltage (5%) and the width of the depletion region (15%). Use
n=1.5x10"%m’,

The 6.8V zener diode in the circuit of figure 1 is specified to have Vz = 6.8V at
Iz = 5mA, rz = 20Q, and Izx = 0.2mA. The supply voltage V*is 10V. Find Vi
when Ry =2k} (15%)

8x 10" s(s +20) @
(s + 30)(s + 400)(s + 10000)(s +100000)
please write down the poles and zeros. (5%) (b) please state which pole is the
dominant low frequency pole and which frequency is the dominant high
frequency pole (5%) please sketch the Bode magmitude plot (5%)
Assuming the op amp in figure 2 is ideal, derive an expression for the closed —
loop gain vo/v; of the circuit (15%)
For the circuit shown in figure 3, if we already know the values of {3, Yo, Iy, Ie

and g, find Ap=7 w1=? (25%)
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